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B[R] 5,282 187 18 288 580 314 6,355
SRR 1,134 94 12 71 188 46 1,499
aFR8 1,174 57 3 58 211 78 1,503
=R 3,090 116 3 134 476 182 3,819
AR 938 49 0 21 166 38 1,174
LR 1,461 43 3 33 243 88 1,783
mEE 2,634 166 7 129 494 155 3,430
KR 4,730 209 8 272 821 291 6,040
N 3,522 121 2 113 552 195 4,310
HER 3,891 159 2 183 647 211 4,882
BEE 11,974 369 7 762 3,088 955 16,200
FEE 9,350 310 34 546 1,814 688 12,054
RRED 18,923 257 14 817 3,282 1,585 23,293
fESNS 15,568 278 7 700 2,894 1,198 19,447
Hino i 2,274 105 1 123 501 180 3,004
2R 1,263 56 2 52 190 76 1,563
alllR 1,596 63 1 75 241 108 1,976
BHE 1,099 43 0 35 129 41 1,306
LLBR 1,250 31 5 53 264 76 1,603
REFE 2,820 111 8 97 558 206 3,594
I RIS 3,229 156 3 109 515 167 4,012
EEIR 5,397 201 6 240 1,255 435 7,099
BHIR 15,179 416 18 465 2,347 928 18,425
=ER 2,661 129 3 78 498 160 3,369
BER 2,024 49 3 66 289 85 2,431
RERRT 3,329 116 3 132 629 327 4,209
ABRAT 12,923 491 39 754 2,304 1,034 16,511
"ER 7,401 185 14 253 1,391 598 9,244
ZRE 1,532 89 0 52 235 88 1,908
AL 1,176 41 7 45 226 79 1,495
SR 697 24 0] 24 106 28 851
ERE 763 19 1 12 186 39 981
A L= 2,455 108 1 73 524 166 3,161
LBE 3,957 176 4 157 750 340 5,044
Hijm[= 1,797 46 2 51 325 92 2,221
e 845 25 1 17 180 45 1,068
&HIIE 1,215 51 3 45 250 99 1,564
BER 1,534 56 0 53 313 140 1,956
=S 645 20 0] 19 123 33 807
ERR 6,675 253 11 287 1,052 468 8,278
EER 734 50 6 36 178 69 1,004
RIBE 1,008 41 0 28 210 84 1,287
HEARIR 1,932 75 5 77 314 132 2,403
AHE 1,267 40 O] 41 187 68 1,535
=IFE 1,180 38 1 48 210 51 1,477
BREE 1,556 45 4 47 286 78 1,938
RIS 728 10 2 5 87 42 832
tT=4 0 0 0 0 0 0 0

a&t 177812 5,774 274 7.776 32,309 12,586 223,945
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B[R] 4,177 120 6 187 459 248 4,949
SRR 975 50 4 32 162 35 1,223
aF= 892 33 0] 31 173 58 1,129
=R 2,393 55 0 79 404 144 2,931
AR 748 34 0 10 140 21 932
LR 1,169 32 0 22 206 68 1,429
mEE 2,139 90 5 82 420 109 2,736
KR 3,709 105 8 181 657 208 4,660
N 2,799 72 0 77 466 155 3414
HER 3,179 107 1 123 545 163 3,955
BEE 8,765 248 5 516 2,481 657 12,015
FEE 7,146 190 21 372 1,475 512 9,204
RRED 14212 136 4 556 2,726 1,262 17,634
fESNS 12,496 190 3 484 2,374 894 15,547
Hino i 1,739 60 1 71 382 114 2,253
2R 1,013 32 1 30 150 58 1,226
alllR 1,272 38 0 57 187 73 1,554
BHE 873 31 0 26 105 30 1,035
LLBR 994 19 2 42 211 55 1,268
REFE 2,234 55 4 71 468 157 2,832
I RIS 2614 77 2 84 413 109 3,190
EEIR 4,284 125 0 155 1,027 328 5,591
BHIR 11,967 249 8 320 1,880 657 14,424
=ER 2,187 68 2 53 396 106 2,706
BER 1,688 17 1 36 228 55 1,970
RERRT 2,676 76 2 69 504 248 3,327
ABRAT 10,189 285 5 497 1,849 753 12,825
"ER 5911 112 0 166 1,102 418 7,291
ZRE 1,245 50 0 29 185 62 1,509
AL 915 22 2 28 173 53 1,140
SWE 566 13 0] 11 86 17 676
ERE 636 9 1 8 157 29 811
A L= 1,983 54 0 45 427 112 2,509
LBE 3,309 102 1 105 591 234 4,108
Hijm[= 1,511 29 1 33 262 64 1,836
e 725 9 0 11 150 33 895
&HIIE 958 29 1 24 205 74 1,217
BER 1,195 32 0 34 233 87 1,494
=R 542 11 0] 12 110 26 675
ERR 5,221 164 1 161 851 345 6,398
EER 584 20 1 17 151 57 773
RIBE 803 20 0 13 167 62 1,003
HEARIR 1,587 50 2 49 248 95 1,936
AHE 1,029 20 O] 18 160 56 1,227
=IFE 991 22 0 28 177 40 1,218
BREE 1,280 27 1 28 240 62 1,576
FHEE 604 7 0] 1 69 35 681
tT=4 0 0 0 0 0 0 0

a&t 140,124 3,396 96 5,084 26,232 9,238 174,932




